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ﬁg TREOBHOFILAOKRES TREQHBESSLADKRES TREOBHOFILAOKRES TREOHBERILHDOKRES
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 4.65 57.95 | =hst | 0oo ~ 000|161 8.14 ZznLst 1.00 | 5.00 ~ 5.00 57.95 | =S | 5,00 ~ 5.00)| 1.61 8.14
2 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.37| 120.80 |3mEBZB| — ~ — — — | 100kN/mi%Z#Z 5| 1.00 | 1060 ~ 1496 120.80 |3m%E#BZ3 -~ - — —
ZznLst 1.00 | 1.37 ~ 9.16 100.00 | =04y | 000 ~ 916|225 11.35 znLst 1.00 |1 6.00 ~ 10.60 100.00 | =N | 5.00 ~ 14.96 | 2.25 11.35
P 100kN/m%Z#BZ5| 1.00 | 000 ~ 086| 112.92 |3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.07 ~ 1365| 112.92 |3mZi#BZ3 - ~ — — -
ZznLst 1.00 | 0.86 ~ 865 100.00 | =nlsy | 000 ~ 865|236 11.93 znLst 1.00 | 6.00 ~ 11.07 100.00 | =N | 5.00 ~ 1365 2.36 11.93
4 100kN/M%Z#B % % — -~ = —|3mZE#EZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 682 86.23 | =hst | 0oo ~ 000|167 8.46 znLs 1.00 | 5.00 ~ 8.50 86.23 | =N | 5,00 ~ 8560 )| 1.67 8.46
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 000 ~ 766 98.11 | =hst | ooo ~ 766|218 11.03 znLst 1.00 1 6.00 ~ 1020 9811 | #nst | 5,00 ~ 1020)| 218 11.03
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZEHBZ B - ~ — — -
ZznLst 1.00 |1 0.00 ~ 6.83 86.39 | =hst | 0oo ~ 0.00| 1.68 8.48 ZznLst 1.00 | 5.00 ~ 8.50 86.39 | =nLS | 5,00 ~ 8560 | 1.68 8.48
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.63 57.72 | #hst | 0oo ~ 0.00| 1.60 810 ZznLst 1.00 | 5.00 ~ 5.00 57.72 | =S | 5,00 ~ 5.00)| 1.60 8.10
g 100kN/m%#82 5| 1.00 | 0.00 ~ 091 113.64 |3mZ#BRB| — ~ — — — | 100kN/m%#Z25 | 1.00 | 11.839 ~ 1495 113.64 |3mZi#BZ3 - ~ — — -
znLst 1.00 |1 091 ~ 870 100.00 | =04y | 000 ~ 870|201 10.15 ZznLst 1.00 1 6.00 ~ 11.39 100.00 | =N | 6,00 ~ 14.95| 2.01 10.15
9 100kN/M%#8%25%| 1.00 | 0.00 ~ 1.44 121.83 |3mZE#BRB| — ~ — — — | 100kN/mZ#Z5 | 1.00 | 1.0 ~ 1767 121.83 |3mZi#BZ3 -~ - — —
ZznLst 1.00 | 1.44 ~ 922 100.00 | =nlsy | 000 ~ 922219 11.07 ZznLst 1.00 1 6.00 ~ 11.30 100.00 | =nRS | 65,00 ~ 1767|219 11.07
10 100kN/m#%#82%| 1.00 | 000 ~ 120 11810 |3m&EBZ3B| — ~ — — — | 100kN/m%Z#Z25% | 1.00 | 1079 ~ 1502 11810 |3mZi#Bz3 -~ - - -
ZznLst 1.00 | 1.20 ~ 898 100.00 | =nlsy | 000 ~ 8958|226 11.43 ZznLst 1.00 |1 6.00 ~ 10.79 100.00 | =N | 5.00 ~ 1502 | 2.26 11.43
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ S ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
zhList ~ st ~ zhList ~ st ~
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